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You have been called for the written test based on the online data fumished by you in the web application. If you have
wrongly entered in the web or you do not possess the required qualification as per our advertisement, your candidature

will be rejected.
2. e gir & Adetes Fr 3ufeuia & & I gid-Che/BIRIUTE 9§’ Hl=T d1ey]

You should sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.

3. YT 60 WAl ¥ I GRA-GRAR F TT H ¢l
The Question paper is in the form of Question Booklet with 60 questions.

4 9% F I A F AT el NTANR SeaR-qReder & Sesh|

A separate OMR answer sheet will be provided for answering the Questions.

5. maﬁaﬁﬁrﬁﬂﬁamﬁwmmmmm@mmmg%ww

RAfese rae W orgar_=nfzul

Question booklet series code (A/BIC/DIE) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.
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10.

1.

12.

13.
14.

15.

FA-GRETHT H IR AT qAT ITAE e ford|

Enter your Name and Roll Number correctly in the question booklet.

HITHAAR ScR-GRETsh F wefr gfafear Ael/arh T & afa a5 997 § & 6 o=
IRTI

All entries in the OMR answer sheet should be with blue/black ball point pen only.

5 o PURT AeEdr & AR w), AT 7T 9’ sl $ oy s &9
gl TS & Fhaer v 3feey &7 ¥ HEY gl

The written test will be of objective type based on the qualification prescribed for the post with four answers indicated, of
which only one will be unambiguously correct.

19N, SeR-qede # for v et F AR, Ae/Fen wE § §ta age 9 @
HTAAR FeeR-9fFaer & Fafta ffad & Hfhad F FE 3caR 7 T4 FT B

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen as per the instructions given in the answer sheet.

T 9o & T 311 3cak TTo/d AT ST I 3caRl & o0 2Wed 3ih oih f2ar
Multiple answers for a question will be regarded as wrong answer. No neqgative mark will be given to wrong answers.
ﬁ@aﬁwaﬁmﬁm%mm eI, AlSd Bl JUT e SFclish
ST, UTST-JEd, mmmﬁmaﬁami

Computers carculators mobile phones and other electronic gadgets, text books, notes etc.. will not be allowed inside
the written test hall.

quf 5 Cal G2l w13 I A 3

gt e S |l qor el afa T o @) |
On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the
original OMR answer sheet to the invigilator and retain the duplicate copy with you. :

T-gfcehr 3Ll 39T I W T B

The question booklet can be retained by the candidate.

& & T 6 & SR AR F T g SIS B IR T B

Candidates are not permitted to leave the examination hall during the first hour of the examination.

HOfE F WRTER 3] THINEERAST & fov & Rf@a oler s
ST Bl

The written test is conducted only to shortlist/screen-in the candidates for interview.

2 1257TMAC



g iRrEE ot (wefife)/Technician B (Machinist)

9% 6 cm, 8 cm 3 10 cm 9Tl T FRI0T 7 &% 2/Area of a triangle having side 6 cm, 8 cm and
10 cm is

(a) 48 cm® (b) 60 cm® ()  30cm’ (d) 24cm?

firdt & ot = =ried @/Density of kerosene is

(a) 0.7 gm/cc (b) 0.8 gm/cc (c) 1gm/ec (d 1.2gm/cc
AL T Al —— T ==k fohaT ST @/ Cutting speed is expressed in

(a) ex/fHe/Meters/minute (b)  ufeEHur/fe/revolutions/minute
(c) re/fie/strokes/minute (d %o 7=l /none

— & foudme e wan Tt Sirar 2/Reamer is used for
(a) UHTSR EFTﬁ/Making a hole ‘

(b) TR % SIER 5 %1 TR/ finishing the hole to size
(c) U fiss w1 FE¥S FTT/Counter boring a hole

(d) 3UURF ¥ § IS AE1/none of the above

ThHagH — o fore Areht St ®/Flute in a drill is provided for
(a) T FHSIM 3/Guiding the tool (b)  Tui % geM/removal of chips
(c) T TS /Holding the tool (d) 39 U FIE T8 /none of the above

et 31 hat 3TISTR 1 Aaeis 3 /Single point cutting tool means
(a) A B/ No cutting edge

(b) TS FaT HN/ one cutting edge

(c) 39T ok foTe vehe =rawe /Holding arrangement for tool
(d) 3WIE H HIS 781/ none of the above
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10.

11.

a8 H3K 559/ The hardest material is
(a) =9 | AE2158 / cubic boron nitride (b)  TTEAFEITE/ tungsten carbide

(c) e 3T/ carbon steel (d) ER/diamond

1 $EAT | e [y i @ed % ®9 H WG Sia1 @ @1 7%/ Carbon is used as alloying element in

carbon steels because

(a) A Tl agg 2/ Carbon is a cheap material

(b) TS ITEHT T IwTed 2/Carbon is easily available

(c) RIS SEUTA % AT ITER % feTe/Carbon enables heat treatment of steel
(d) =rE e/ None ’

ToT SaTE gTa: ——— 3 5 210} /Jig bushings are generally made}of
(@) 73/ Mild steel

(b) @@ @R/ Cast iron

(c) 31 %d seara/Hardened steel

(d) diael/Brass

i A —— g ﬁlﬁﬁE Bt 8 /A milling machine is specified by
(a) 3TgIed, Ty, SR I%A/Longitudinal, cross and vertical traverse

(b) itk 3UeTsY 2/Power available

(c) @ AT 29/ Spindle nose taper

(d) 3wk afi/All the above

18-8 SRIef gwTa = T AT 2/18-8 stainless steel means

(2) 18% e 3TN 8% hiffram/18% tungsten and 8% chromium
(b) 18% wiftem 3 8% Ferei/18% chromium aﬁd 8% nickel
(c) 18% Teher it 8% HIfirem/18% nickel and 8% chromium
(d) 18% wiftrm 3T 8% wHiaee/18% chromium and 8% cobalt
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12.

13.

14.

15.

16.

17

Terga wfgsuyan fSFesh1 g=3 8 /Open tolerance is an indication of
(a) HeEH URged/Medium precision (by 3= /High precision

(c) Tcg=da Y&/ Very high precision (d)  f=rufegedlow precision

FaT Rl W fareta = fsan a1 27/ Coatings are applied to cutting tools to
(a) < ot &H 1 /Reduce cutting forces  (b) % 9a SgH/increase cutting forces

() T8 TRHhl FA F/reduce surface finish  (d) 3% 5 & i< Fei/none of the above

FH1or afgeRt ferweh! st Bt 27 / Angle plate is made of
(a) ©gad s geal ael/Closed grain cast iron  (b) ol geqTd/cast steel

(c) 3SR 3E@/tool steel (d) = 7fa 399 high speed steel

STerdoT O T ST T e dea & i B R | T ST % T after gl qag e S §?/

The grain size of a grinding wheel is indicated by number. Which range of grain size referred to

‘very fine’?

() 10-20 l(b) 30-60 ()  220-600 (@) 80-180

ST SR & 37ITE STqe s s Srqeor afven Tt w9 & i 8 S 2 | 39 3 o wiwie % fore R

SUHTOT ST 3T 319 HAT? /Due to continuous use the grinding wheel of an offhand grinder is glazed

locally. What tool will you use to rectify these defects?

(@) fo=m ufg/Buffing wheel - (b) € ulE/Diamond wheel

(c) e afgar/CBN wheel (d) e yarEs/Diamond dresser

@304 Fumey & ‘17’ Brd %1 9=F §7/In case of @30™" , the ‘H7’ indicates:

(a) oz sm/Hole size (b) 3= AM/Shaft size
(c) or=marsH/Fit (d) w2/Allowance
5 1257TMAC



18.

19,

20.

21.

22,

23.

24.

Toreit Yo T < Hierg R ATl STt ? / The tooth thickness of a rack is measured by
(a) wrfee IR HAI Universal Vernier caliper

(b) herst gEEATTY/Flange micrometer

(¢) T ga g FfAwGear tooth Vernier caliper

(@) TR wiers/Gear tester

TRl 992 T WRIeT U witsenfr el o R s 2 | Freffad § @ 9 @y W e 5 A g

HEM?/A shaft is turned in one finish cut. Which one of the following parameter will directly
influence the machining time?

(2) o TRUS/Cutting depth (b) 3R HV/Setting angle
(c) =@ @s % =/ Diameter of work piece (d) INRIAFTN Tool travel distance

4/5 ! TIes § yiEidd HIfme/Convert 4/5 into decimal
@ 05 b) 04 © 08 @ 06

3T Y 3 et S % 1 T T U T T HET R | 36 % AU S Rrg T B 99 S0/ You

have to machine a flat surface on a work piece of two meter length. Which machine will you choose
for this?

(2) T@WEA/Planning (b) @r=H/Slotting  (c) qird/Milling  (d) ®qUT/Shaping

et it s —— g0 Frmsror o st 2 ? /CNC machines are controlled by means of
(2) SHEI/Program (b)  w=TEH/An operator
(c) HH/A cam (d) @ EE Wel/A plug board system

‘a’ UTYS 1ol GHERITOTe Frst %1 S/ Area of a equilateral triangle with side ‘a’
(a) ~3/4a’ (b) 3/2a? () 3/62% @) 342

widste forw % fore foram StmaT 8/ Counter boring is done for
(a) Tz Mt 3@ S9=H/Deburring hole end
(b) < @19 % fo7g 7% 98f/Enlarge hole to accurate size

(c) el uftep{a/Finishing deep
(d) wiehe i U= =1 GHSH/Accommodate socket head screws
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25.

26.

27.

238.

29.

30.

g Wi g fth —— H W Bl 87 /Quick return mechanism is employed in
(a) WU</Lathe (b)  wuF HEfF/Boring Machining
(c) TSmeiEA/Jig boring machine (d) ®UUIHYH/Shaping machine

foga: Fgor & S Frefofea § Sew T w=Tem % e 3ugw @/A point to point control system is

suitable only for one of the following operations
(a) yiERd/Milling (b)  ©UE/Turning
(c) =TE/Drilling (d)  I7E/Grinding

foreft 91 & @ o1 ot B=aT R A 2 AT RIT O B, Shel R 27/The area of a sector of circle with

radius R cm, if the angle is 0 is
(a) #/360xIIR? (b) #/180xII R®
(© 6/360xTIR @ O/360x2I1R

e 35 o 3 g T o SR S e s e e TR & e R i g g |
T T SN yiqeads ®ie & s o7gurd 1 87/ While using quick return mechanism in shaping
machine the cutting stroke moves slow & return stroke moves fast. What is the ratio between
cutting stroke & return stroke

(@) 2:3 () 3:2 © 5:3 @ 3:5

i svaTen @ @ @UE W G S ¢ | Fefiiad B wores T Sueres 1 I9anT fREr S
27/An irregular shaped work piece is turned on a lathe. Which one of the following work holding

accessory is used?

(a) Treterer=®/Three jaw chuck (b)  TastereT =1/ Two jaw chuck
(c) e ufgH/Driving plate (d)  wae ufsai/Face plate

TAAT AR o Wl % 99, Iideh 5o 91 541 91fee/ While machining cast iron, the coolant should be

(a) &6 dig/Dry air (b) fafrEr ae/Kerosene
() w/draa/M/C oil (d) S/Water
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32.

33,

34.

35.

36.

37

3/5 =1 wferera # &1aci / Convert 3/5 to percentage

(a) 40% (®) 60% )  80% d  90%

I¥d “a’ ST U FH 1 608 S5het &/ Surface area of a cube with side “a’ is

(a) 6a° (b) 6a c 2 (d) 3a

frarfird Syt # Sfa:ah1vli |fed HIoft 1 47— 2 /Sum of the interior included angles in regular
hexagon is

(a) 720° (b)  360° ()  480° @ 120°

T A3 8/One micron is

(a 0.1mm (b) 0.001 mm (c) 1mm (d) 0.0l mm

TR Bea =1 I B/Unit of specific gravity is

(@) gm/cc (bj gm/cm’
(¢) gms | (d) ST H B Fh/none of the dboe

60 cm ST o Tk 5 T T AR T o Torg e Bran ST 8 | Gh e 10 em @ | qmrramed
®/A rod of length 60 cm is bent to form a rectangle. One side is 10 cm. The other side is

(a 15cm (b) 20cm €y 25cm (d 30cm

Y € Teh o T TET T FA T 2L T FANT AT S |/ Which taper is used on spindle nose of the

lathe head stock
(2) SHIeH/Jerno taper (b) =YW THburn & shape taper
(c) = 3wpitch taper (d) W™ SIWmorse taper
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38.

39.

40.

41.

42.

43.

we fifegm mefi o rgwrsrs vid =1 w8 ——— o fg foFam St @ / Indexing head in a milling

machine is used

(a) T =T Tl Rl 1 A % 1T /to reduce the speed of machining
(b) g TitRtor A gfg @ % TT /to improve the surface finish
(c) ueh fuer weher =8 W BT f&a s % 7T /to drill holes on a pitch circle diameter

(d) I9UE | IE T /none of the above

s TR & Ug~en %1 9aeie 2/ Addendum of a gear means

(a) Tierem e e A % /Height of gear tooth above pitch circle
(b) et e giat s s/ Total gear tooth height

(c) TheraTdl = fishm /Clearance of gear tooth

(d) frEamE ?ﬁﬁéﬁﬁ?ﬁﬁ % <= /Height of gear tooth below pitch circle.

fyfér % T RBRErE /The finish achievable in milling is

(@ v (b)y vv (c) vvYy : (d vvvy

JY Y Y9UT < 1 TER AR AW F S 1 U §@aT 8, gedi/As the ratio between length and

diameter of a boring bar increases, rigidity

(a) W&t &/Increases (b) et & &l 2/ remains the same

(c) et &/decrease (d) IEEH T =18 Tei/none of the above
it St 1 <2t 1T ——— 2/ The thread angle of a metric thread is

(@) 55° (b) 57.5° (c) 60° (d) 45°

fi5g 1 waTE o 7T s AT 1 W forg 10T/ The general point angle of a drill used for drilling

holes is

(a) 110° (b) 100° ) 90° @ 118°

9 1257MAC



44,

45,

46.

47.

438.

e3¢ SIS S0 SIS & S8t & F1fF /A carbide tool is better than HSS tool because
(a) o 31fees SwT Wit /1t is more heat resistant

(b) IH I=H T 211 /has higher tool life

(c) IR SRt TTTel O SHRT STANT foFaT T wehelT 2/can be used at higher cutting speed

(d) IHRE E¥f/all the above

FRI0T o HI9 o foTg gh 39RUT/ Instrument used for measuring angles is
(@) TIfE/Set square (b) =T AS/Slip gauge
(c) Sad WdFUbevel protractor (d) HfFMUCaliper

GHE Uitk T 3w foe o forT 211 27/ Gang milling is used to
(a) 3R %] % Huf9/Machine hard materials |
(b) %3 9% % T¥(/Machine soft materials

(c) it %1 5a Tfd & wRFF/Complete the machining faster

(d) =IE 7/ None

et 7R & s @ Fefafas @ @9 2/The use of CNC machines provide the following

advantages

(2) & forfia Femw/Better dimensional control
(b) fews Frim/higher output
(c) ITerss T %Y &4TH/less attention of operator

(d) 3wk TfY/all the above

w1k 1 39T b 3 fAg €T /A fixture is used to

(a) 3NN % FEIM/Guide the tool

(b) e % HE/Clamp the job

(c) ST % Fa¥M 3R 38/Guide the tool and clamp the job
(d) IE T/ None
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49.

108

51.

52,

53

et Aex el <) gt ¥ i1 srfreumo 7 e | Teweh ierh § R .. oS Bt € S 0° ShioT W 3l
FAT S | Bh % Tedeh TGt § foraan &srhed |1% 81 27/ A car has two wipers, which does not overlap.

Each wiper has a blade of length R cm, sweeping through an angle of 6°. The total area cleared in

each sweep of blade is:
@ 2{(6/360)x I1R*} (b)  6/360 x [IR?

© 2{(6/360)x 201R) @  2{6/360)x 211R?}

ﬁﬁ@%%wﬁmmmnﬁ%waw%ﬁmﬁﬁaﬁsrrfmma"r@qa?ﬁ%?/}?or turning

cast iron, which tool material is most suitable for turning with maximum cutting speed?

(a) @/Diamond (b) wee/Stellite
(c) e %a Frafse/Cemented carbide (d) T=uETE/HSS

TREHITR et s s, formeh! sters 1 Hiet ofit Aiers 1 Wit @ (wemar 2.7 1. /HE) w87/ Weight of

aluminum sheet (density 2.7gm/cc) of size 1 meter width and 1mm thickness is

(a) 27kg (b) 2.7kg ) 027kg d) 1lke

et w3 P o o1 T = & R siem ) sy Rfe i gamn o 1o @ 1 <t 87/ What

is the name of the control system of the CNC machine in which the actual position of the tool is

compared with the input value?

(a) FeaTford fEE9/Hydraulic control (b) &4 fRE/Servo control
(c) drg=nierd EEU/Pneumatic control (d) 39U H IS T8I /none of these

20H7 = 3 Tiog 1 afespfiy et 2 foog 1 o o o ofiat @ =1 7 g <t sife o forg fohg wrot 3 ot
3T 999 ®M?/A hole of diameter 20H7 is to be finished. What measuring device will you select to

check whether the size of hole is within the limit or not?

(a) HMT R I/Limit plug gauge (b) SRR &Y/ Vernier micrometer
(c) af¥os FfAT Vernier caliper (d)  Hmr 9 IS/Limit ring gauge
1 1257TMAC



54.

55.

56.

57

58.

59.

60.

e Tore wepr <1 wftreRcl WeRA 37ed UG & 7/Which one of the milling process is best suitable?
(@) wiagfEerda/Up milling (b)  IggfERdd/Down milling
(c) &= uftekda/Slot milling (d)  fosries @/ Trepanning

et SR § 3779 “M00” 1 @1 Haeis 2 7/In CNC program, the command “M00” means
(a) SHEIAYT 1 3d/End of program

(b) % o1 efimmred guia/Clockwise rotation of spindle

(c) TorT eI shuTe™ WHTE F/Stop program unconditionally

(d) I = HE T2 /None of these

U8 TS 1 FeH, 58 Tl SR Y ST 8, F40 shwetial 27/ The component of the surface texture
upon which the roughness is superimposed is known as

(a) Iig'g‘{C{é':'ﬁlT'/Surface roughness . (b) 9B TEA/Surface texture
(c) Todi/Lay (d) 3iHe@@/Waviness

9 IR 66 1. 3 | 35T =T T FIRWCircumference of a circle is 66 mm. Find its diameter

(a) 21 mm (b) 42mm ()  33mm (d) 11 mm

T W ol ISR Aeh ——— W ifue o <t St 8/ The tool point of a planning machine is
mounted on

(a) W1/Apron (b) I /Cross rail

(c) S uTE seE/Clapper box (d) g=v/Saddle

=1 fofaa o =i @1 5w s9endss 7/ Which one of the following is an artificial abrasive?

(a) TH{/Emery (b) €F/Diamond

(c) Thfersria srafse/Silicon carbide (d) 3WrE H 1S TE/None of these

3 Afterdd s — 3 Rfafifa S /Solid milling cutters are manufactured from
(2) TECETE/HSS (b) wEizs/Carbide

(c) Hw/CBN (d)  ¥®/Diamond

12 1257MAC



